Which state of India is the first state to start
1. Whic
Jantation?
Coffec® Karnataka
(B) Andhra Pradesh
(C) Kerala
(D) Tamil Nadu

2 72124 6
l 9 | 16 | 12
108 7 | 18

(A) 12

(B) 18

(C) 20

(D) 16

3. Which state of India has highest percentage
of forest area?
(A) Mizoram
(B) Nagaland

(C) Madhya Pradesh
(D) Meghalaya

4. The avery s 80. The
first number jg 1086 of three numbers is

. dand
More than twice the second 2
the second ny eris 10 1o than thrice the third.
What is the 1°West nump s: an
(A) 68 mber’

(B) 28
©) 66
(D) 26

2|24 |6

% | 16 | 12

108 7 | 18

(A) 12
(B) 18
© 20
(D) 16

3. SICATHA (I ST IR ! Ay
Fife e
(A) e
(B) NS
(C) W

@)’mﬂa

4qumqg80|m$<mﬁ@w

0 @M @R Tl 7S v
w‘gm% 10 7 | TS Colb
A -

Lo
(A) 68
(B) 28
(C) 66
(D) 26 {
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§. If *+’ means ‘x’, ‘+’ means ‘~’, ‘x’ means
‘+" and ‘-’ means ‘+’, then what is the value of
(2427-3+2x3+2)?

(A) 35
(B) 27
©) 39
(D) 37

6. Which National Highway of India is the
longest?

(A) NH 17
(B) NH 60
(C) NH44
(D) NH 10

7. If number2isinbottom, then which number
is on top on a dice?

<O By &>
e e
(A) 5
(B) 1
(©C) 6
(D) 3

8. Which of the following is a browser to
access Dark Web?

(A) Google Chrome ¥
(B) ios

(C) Tor

(D) Linux

9. If the ratio of principal and simple interest
at4% per annum for g specific time is5:2, find the

number of years for which the principal was
deposited.

(A) 10 years
(B) 15 years
(C) 18 years
(D) 12 vears

5. % 4+ W ), W X I
OO R, O@ (2 +27-3+2x3+2)9q

= fRef 3| : x%-k
() 35 W’ﬁl |
(C) 39 L 8 *

/(9(37

6. ST AN TR TG (TG ?
(A) NH 17
(B) NH 60
X€) NH 44
(D) NH 10

7. T 2 A2 wetty AT SR (I A w@ia
TATT AU ?

(A) 5 o Al

(B) 1 o 2 "
(©)6

(D) 3 @:

8. fsfRRe @ Browser 52 F121t) Dark Web
access 31 T ?

(A) BT G

(B) W28 G

(C) T ‘
(D) T

9, I 4% AT W GG WY wygg @ €
WWWSIZ@,WWWWmﬂ
fafecatet w1 2R 2

(A) 10929
(B) 153=9
(C) 183=4
(D) 123=9
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10, The Hin dalco Unit at Muri is located on the
bank of which river?

(A) Mahanadi

(B) Subarnarekha

(C) Tungabhadra

(D) Kangshawati

11. Who was the first recipient of Padma
Vibhushan?
(A) Nand Lal Bose
(B) Dr. Bir Bhan Bhatia
(C) Pandit Jawaharlal Nehru
(D) Satyandra Nath Bose

12. A mixture of dettol and water contains 80%
of water. What volume of dettol is to be added to
60 litres of this mixture, so that the new mixture
contains 75% of water?

(A) 4 litres
(B) 8 litres
(C) 10 litres
(D) 6 litres

13. On which river Tehri Dam has been built?
(A) Ganges
(B) Ravi
(C) Ichhamati
(D) Iravati

14. A man standing on the platform finds that
an Express train passes him in 15 secs. If the speed
of the train is 60 km/hr, what is the length of the
train?

(A) 250 meters
(B) 150 meters
(C) 300 meters
(D) 200 meters

(5)

RBSIW(P)/20

10. ISR ¥itarraes wyygiy ey sita S AIAEO 7
(A) wzre@
(B) Facfrz=y
(C) g=ewm
(D) 3=

11. 2% *“Hfgaes sfzraras atrors o e 7
(A) «¥&E @
(B) © Iem wffar
(C) o< Tozzmm Gzz
(D) o512 s

12. 936 (Ooet @ TFg =t 80% &= &=
60 017 @7 e b1 (obe e, 7 e
75% T AUIFCE?

(A) 4T
(B) 8 oo
(C) 10 fiora
(D) 6 %=

13. (023 FufS @ TR ST wfFS?
P
(B) 3R
(C) 2@l
(D) ZARE

14, givan! Ao 9% I1E O @ <3l arrept
(G I 15 (s o ¥ | 3 it Qe
sffotant 60 Ref/ %1 T O QD o e

(A) 250 FOH
B) 150 o
(c) 300 O
(D) 200 fO
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15, Which of the following is known as Mixed
Jand? ;
g (A) Thyrold
(B) Liver
(C) Pancreas
(D) Pi[llitari

16. M men agreed 10 purchase an article for
Rs. R. If 4 men drop out, how much more (i Rs.)
will each have to contribute to purchase the article
at the same price?

__4R
B M —am

B) R _4ar

AM-R
© T4z

M? —4R
MR

(D)

17. The Pompus grasslands are found in which
continent?

(A) Asia

(B) North America
(C) South America
(D) Africa

18. Explain the following relationship with the
help of Venn diagram:

Singer, Musician, Doctor

g

(B) 00
O

(©)
(D) @

(o)

15. fArare @i feafy 3o za e
(A) ABIATC
(B) 73
AT
(D) fipzoiIa

16. M 745 SieE 936 737 R WA 02 sqre
2 | I O Y 4 G IH 50 T, O3 A
S G I G fe10e 2oyt S b1l (3f fire
IS

4R

M? —apm

_4M

R?-4R

4M—-R
4R

2
(D) M~ -4R

—_—

MR

(A)

(B)

©)

17. ‘i1 QIefi (I T =TS stem
2

(A) affm

(B) T&x Sfz!
PeRiabic

(D) =

18. (o TIANTR AR R 5740 Fyran
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in the

(A) Damodar Valley
(B) Mahanadi Valley
(C) Godavari Valley
(D) Son Valley

20. Simplify :
(V20 + IT25 - J367) (/500 + /245 + 947)
(A) 2012
(B) 1445
(C) 567
(D) 878

f 21. Who Named Kolkata as ‘Alinagar’?
(A) Siraj Ud Duolla
(B) Mir Kashim
(C) Bahadur Shah Alam
(D) Mir Jafar

22. If the following words are arranged in
alphabetical order which word will come last?

1. Abandon 2. Actuate 3. Accumulate
4. Acquit 5. Achieve

(A) Actuate
(B) Acquit
(C) Achieve
(D) Accumulate

23. Whichofthe following is the world’s oldest
Capital City?
(A) Canberra
(B) Oslo.
(C) Accra
(D) Damascys

19. About 80% of'the coal reserves of India lie

(1) RBSIW(P)/20

19. mﬁmmw 80% mmﬁwm?
(B) wzremi R EIET T

(D) O Saifzepy
20. AR FAL 3
(V20 + V1125 - /557) (/535 + V25 + 547
(A) 2012
(B) 1445
(C) 567
(D) 878

21. FETIOE Wferei’ ezt & ICaREw 2
(A) B O daen
(B) S=zeifew
€5 AR e e
(D) N<EiTs

22. Noa *afEe I Sl SeE @w

b O ST 2

1. Abandon 2. Actuate 3. Accumulate

_AAcquit 5. Achieve

(A) Actuate
Acquit
(C) Achieve
(D) Accumulate

23, frarez Wy 4R AbeR AT w7
@b e

(A) I
o
(C) W

(D) wrFA
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Scanned with CamScanner



 —

8)
RBSIW(P)/20 (

24. 40’clock rain is prevalent in

(A) Amazon and Congo basin
(B) Yenisei basin

(C) Huang He basin

(D) Nile basin

25. In a code language 724 means ‘leaf is
green’, 371 means ‘green and blue’ and 438 means
‘sky is blue’. Then which numbers represent ‘leaf’
and ‘is’?

(A) 2and 7
(B) 7and 4
(C) 2and 8

(D) 2 and 4

26. INDRA 2021 was scheduled to be held at
(A) Russia
(B) Japan
(C) Singapore
(D) India

27. If 1+4=9, 2+8=18, 3+6=15, then the
value of 7+8="?

(A) 41
(B) 30
(©) 32
(D) 23

28. Findthe fourth proportional of the following
numbers:

24. 43 3B (4o’clock rain) fgfafaes @

25, s AISCAToT O 724 W0 ‘leafis green’,
371 G ‘greenand blue’ G3R 438 A ‘skyisblue’ —
7@, ‘leaf’ R ‘is” (P TR il QIR AI?

(A) 28R 7
(B) 749k 4
(C) 24K 8

praaw4

26. ‘INDRA 2021 G (IR S0 267K

S
(A) =
(B) A
(©) Pt
D) ©iFe .
DT 628 ar T
27. W 1+4=9, 2+8=18, 3+6=15, O
7 + 8- I 92 ' 2,
(A) 41 Q(; . e
(B) 30 L/’ \S
) 32 N7

_ADY 23

28. fAFRIRe SAH TS T SR S 2
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S A
29. 12,25,37,49. 2 12.23.37,49, 9
. 12, 25,37, 49, (A) 69
(A) 69 (B) 56
(B) 36 (©) 60
(©) 60 (D) 65
(D) 65
30. The tenure of each Member of Legislative 30. Ruw AR st A TS ?
Council is (A) 3=
(A) 3 years AB) 67
(B) 6 years (©) 53=7
(©) 5 years (D) 2=z
(D) 2years

31. Choose the alternative which closely 31. NGB ArE e aows eeg 2Afefas 2

resembles the water-image of the given word: N l}\CLE AR
NUCLEAR I(\A)tESVEI'CUI/I
(A) BYEFCUMU (B) NUCIr3vK
(B) NUCI3VE _(ef UNCTEVE
(C) AMNCTEVE (D) UNCIEVE
(D) UINCTEVE
32. Which temperature in Celsius scale 32. PR & AT FIF SATAE
represents Absolute Zero Temperature? ‘Absolute Zero’ Sioial T QRN T 2
(A) -273-15°C (A) -273:15°C
(B) —237:15°C (B) -237-15°C
(C) -373-15°C (C) -373-15°C
(D) 0°C (D) 0°C
33. 45 men canproduce 10000 electric bulbs in 33, @33 R T 45 T IfE 12 fw

12 days inaco-operative concern. The concern got 100003 el AT 2FS TS AT 197271 9 T

an order to produce 10000 electric bulbs in 9 days
' AT | SR
How many more men would be employed to meet 10000f5 a1 cofia TS Sfefre FoE

the order? mmﬁmﬁwmﬁﬂ'@mmﬂwa
(A) 60 IACS ?
(B) 55 (A) 60
(© 10 (B) 55
(D) 15 ©) 10
(D) 15

[Please Ty, Over)
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34. Bhaba Atomic Research Center is situated
in which state?
(A) Madhya Pradesh
(B) Telengana
(©) Maharashtra
(D) QOdisha

35, If time taken to travel between two stations
has to be reduced by 20%, then by what per cent
would the speed of the train has to be increased?

(A) 25%
(B) 30%
(C) 15%
(D) 20%

36. The National Police Academy at Hyderabad
is named after which of the following personalities?
(A) Pandit Jawaharlal Nehru -
(B) Lal Bahadur Shastri
(C) Sardar Vallabhbhai Patel
(D) Mahatma Gandhi

37. During whose Governorship each Police
Station of British India started functioning under
Sub Inspector of Police?

(A) Lord Cornwallis
(B) Lord Bentinck
(C) Lord Mountbatten
(D) Lord Rippon

38. Rashik walks 20m North. Then he turns
right and walks 30 m. Then he turns right and walks
35m. Then he turns left and walks 15m. Then he
again turns left and walks 15 m. In which direction
and how many meters away is he from his original
position?

(A) 15m West
(B) 30m West
(C) 45m East
(D) 30m East

(1v)

34. 1l 5 R T (Pl 3T SRES ¢
(A) NGAT
(B) (SR

P

(D) e

35. i D GHHTRS N0 (MR T 20% I
A0S T, O@ G @GR sforas S Xl I
A0S TA?

(A) 25%
(B) 30%
(€) 15%
(D) 20%

36, ZEwRICE e oAfer afr @E
(National Police Academy) PR A ANES 2

) AT TERIEATT (F2F
(B) oINS &
(C) R ISR AN
(D) T2 oA

3. @I STeka (EEIEER S Jiow =ihe
CIRSAT 25T Al AT TIATEE A ATBIS
267 OF TA?

) 6 et
(B) &6 %%
(C) 776 MEHBINDHA
(D) =76 fasiw

38. P Ter fE 20 [ &G T 3R
TR I (1 30 IR 25 | 939 wRR o e
7 35 faior T | 9o A e e 15 o |
S S A T 4 15 b | 2 360w

mummcnr@wmwwmwe
(@A) 15 f¥ora =I5 q
B) 30 o #AST 5
45 fvr o

(D) 30‘6:%@9{@0 -
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39. Whois the highestLaw Officer in any state

of India?
(A) Advocate General
. 1
(B) Solicitor Genera
(C) Secretary General, LaW Department

(D) Attorney General

40. Which Indian actor was recently honoured

with the Crystal Award of the World Economic

Forum?
(A) Priyanka Chopra
(B) Kareena Kapoor
© Anushka Sharma
(D) Deepika Padukone

41. ABCDEFGHIJKLMNOPQRST

UVWXYZ
Which letter in this alphabet is the eighth

Jetter to the right of the letter which is tenth letter
to the left of the last but one letter of the alphabet?
A) X
B) I
(C) H
D) W

42. A sumwas putatsimpleinterestata certain
rate for 3 years. Had it been put at 1% higher rate;
it would have fetched Rs. 5,100 more. The sum

1S
(A) Rs. 1,70,000
(B) Rs. 1,25,000
(C) Rs. 1,20,000
(D) Rs. 1,50,000

43. The process of cell division in Amoeba is
termed as

(A) Amitosis
(B) Micosis
(C) Mitosis
(D) Meiosis

RleWU’;/-,

TS "o A

(A) TITCTS S ey
(B) f%a armir '

(©) W fromar s (&I
BT SR iz

ot Tl o Sl s O
RPN T smenrs’ wire w00 ?
(A) f\ﬁ'ﬂm it

(B) SR Fogg

(C) Syt =i

(D) wifsrm AGI

41. ABCDEFGHIJKLMNQPQRST
UVWX¥Z \

TATTR IR e S IR I
TR BN T S22 '

A) X

B) I

(©) H

SV
42, (PITATOI 7 I 3 I e e

mnﬁcﬂi«aﬁo{ﬁwwl%@ﬁmﬁﬁmﬂ
F T, W 5,100 B P oMeA (TS| WA

(Principal) B 3 ¢
(A) 1,70,000 B
(B) 1,25,000 B
(C) 1,20,000 B!
(D) 1,50,000 S

43, i o (O ST el AW

[Please Turn Over)
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44. How many pairs of letters are there in the
word ‘CASTRAPHONE’ which have as many

letters between them in the word as in the alphabet?
(A) 3
(B) 5
(©) 6
(D) 4

45. Buddhist religious scripture Tripitaka was
written in
(A) Pali
(B) Sanskrit
(C) Hindi
(D) Bengali

46. Who of the following was named ‘Jagat
Seth’ by East India Company?
(A) Manikchand
(B) Khoja Wajid
(C) Umichand
(D) Fatikchand

47. If %th of a road is 45 km, what is the

length of %th of that road?

(A) 60 km
(B) 68 km
(C) 26 km
(D) 66 km

48. Recently in which state of India, 300 years
old Sati Stone was unearthed?
(A) Madhya Pradesh
(B) Haryana
(C) Tamil Nadu
(D) Gujarat

(12)

44. ‘CASTRAPHONE’ *bS 3 (&0t wrmy
IR AR WY TR ST SR IO wwaRH
R SR ?

(A) 3

B) 5

©) 6

(D) 4

45. (T% fay e @ s ezt
Pk
(B) 7FS
(C) &
(D) i<

46. TsfRe W IE T e @i a=
Tl (N MifES iR ¢

Yy S
(B) (e exifem
(C) Tfbm
(D) FHIOW

47, I 9IH AV % ot 45 R, SRS

AT % TR G TS 2
(A) 60 =&
(B) 68 =&
(C) 26 =W
(D) 66 ff

48. 6T TS SRS @ ATE 300
IIZ AB A AT AN (M= 2
(A) TgET™
(B) L
(C) SifvEg
(D) oD
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49. A tea seller blends Tea A wort.h
Rs. 250 per kg with Tea B worth Rs. 150 per kg mt
a ratio of 2 : 5 and sells the mixed bl‘end a?
Rs. 200 per kg. What willbe his percentage of profit?

(A) 12%
(B) 10%
(C) 18%
(D) 15%

50. Indian Oil Corporation’s first ‘Green
Hydrogen' plant will be built at
(A) Mathura Refinery
(B) Paradip Refinery
(C) Jamnagar Refinery
(D) Haldia Refinery

51. Shyam borrowed some money from his
friend at simple interest of 6% per annum. He
returned his friend Rs. 15,600. After how much

time did Shyam return the money if he borrowed
Rs. 12,0007

(A) 8 years
(B) 5 years
(C) 3.5 years
(D) 2.5 years

52. Which of the following is the longest river?
(A) Ganges
(B) Brahmaputra
(C) Godavari
(D) Indus

53. Father is three times as old as his son. After
twelve years, his age will be twice as that of the age
of his son. What is the present age of the son?

(A) 10 years
(B) 36 years
(C) 14 years
(D) 12 years

. M | @97

RBSIW( P)120'

49. T B\-fAngy,

25( aa A Pl
150 Bt/ e virag ) Vi o LA

e B blg7 A 2 : 5 TS
ot freem Fufars 51 200 Bre/ et e T

» A A A wrowa 7 TS
(A) 129

(B) 10%
(C) 18%
(D) 15%

50. mﬁ YA FATaemZ 2199 ‘Green
Hydrogen’ 2% e gforg 2727

(A) TR Tt o

(B) A& Toamneamionz
(C) N9 TTasttang
(D) ZEWA teaAttatong

51, *I O 9T IFI IR (AT g O WA
6% A I AR (T3 | (K O IR{(S AW € A A
15,600 B! (< (77 | 7 *p1wr 12,000 51t 412 otz
QTE, SR (1 FOMER &) b1t 417 Fcafes 2

(A) 8=
(B) 53
(C) 3-5TA
(D) 253

52, FAG I Ao w7 ?
(A) =
(B) 94
(C) Cotmr

Py Py

53, o T 0T O TS| 12 T3 4
o o < R O T, O ofea
G I IO ?

(A) 1032
(B) 3637
(C) 147

/(pﬂz@

[Please Turn Over)
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RBSIW( P)/20 |
54 padmashri award winner Mouma Das 18

associated with which field of Sports?
(A) Badminton
(B) Table Tennis
(C) Cricket
(D) Lawn Tennis

55. The concept of Welfare State is included in
the Constitution of India in the
(A) Preamble
(B) Fourth Schedule
(C) Directive Principles of State Policy
(D) Fundamental Rights

56. HCF of two numbers is 32 and their LCM
is 1760. What is the smaller number?

(A) 160
(B) 152
©) 102
(D) 110

S7. Tungabhadra is a tributary of
(A) Krishna river
(B) Godavari river
(C) Kaveri river

(D) Brahmaputra river

LR SR T By ——

J&?

(A) Irefirtg
(B) 3= G
(C) s
(D) == ®fm

S5, I AMEA 4= oAy AR

T SR TEGE 31 ZER 2

(A) =3

(B) vgd ©etfim

(D) A g <
b

)

£

56. o TRYT ALY, GRANQ. TAFFE 24N
1760 20, Fao AGIH 92

(A) 160

(B) 152

(©) 102

(D) 110

57. GweH! (IR A T ¢
(A) T A
B) CArRA A
(@) FEA TR

(D) T ™.
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Whi?:‘h Ioiathl:nrmr is placed on the line MN, then 58. TR MN @t aararg @B wold Zral 2
the given e l;l:;s?wer figures is the right image of Aex @ TR ot wfag ool ¢ y
| E
X E \
N
| (A)
(A)
(B)
(B)
©
©
(D)
(D)
| —
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k R,s["’(l’)/zo
59, (P SIS Ve LA iz (opary

first Indian woman to win
who became the
j% ympic medals? b oM & ICACA ¢
™" (a) P.T. Usha (A) = T
8) Saikhom Mirabai Chanu 4:35 AZea NiE ol
©) Lovlina Borgohain ©) o EVRINE
(D) P.V.Sindhu D) PR g
60. G’s father is X's son. P is G’s uncle. Y is 60. G-I I ZE X978 | P& G997
X’s brother. Then how is Y related to P? Y z1 X-43 O | o1 Y, P—Zg 350N
(A) Uncle /(/K) I + w
(B) Brother (B) Wl )
(C) Father (C) T \/(5\
(D) Nephew D) SR
61. Which one of the following is a Tax-free 61. FRTe @RD oo W3l ST I ?
Sea port in India? (A) Tl
(A) Kandala
(B) Mumbai BT TR
(C) Cochin (©) iR
(D) Haldia (D) Zfwa
62. How many two digit prime numbers are 62. 7o SFT Foufe (N HA SR ?
there? (A) 25
(A) 25 (B) 21
@) 21 , (C) facfa =2t Teg 731
(C) Can’t be determined D) 23
(D) 23 ©)
~ 63. 4began a business with Rs. 2,250 and was 63. 4, 2,250 o R =zl s we |
joined afterwards by B with Rs. 2,700. If the | saSfartar B, 2,700 B0t foew <o 7@ = | T
profits at the end of the year were divided in the TRET CTA TSN 2 : | WAITS 46 B-a7 T S
ratio of 2 : 1, after how much time B joined the 4 oF '
business? 2, | F I TS W A B I @
(A) 6 months il
(B) 7 months (A) 63
(C) 3 months (B) 7™
(D) 5 months (C€) 35
(D) 53
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‘ 64 Six friends, namely, A, B, C, D, E, F are
sitting on abench. E and F are sitting in the middle.
A and B are sitting in the furthest corner. If C is
sitting just left to A, then who is sitting just right

64. A,B,C,D,Emw@ma@m@mm
WlE@ﬁtFWﬂmmmlAaﬂiB@m
o1 aR | W C, A7 g aEfEe I A

to B? ST B-3 3N Clfura @ A SE?
(A) D D
(B) C B) C
©) E © E 3 |
@) A ® A PM
N
p P ¢ «
/
65. A sum, at the compound rate of interest, 65. (I 2Ifzranet Gra, 5 2ER A7 6 32

becomes 2V4 times in 6 years. The same sum 21/, @8 BT | G3 G2 AT Bret 18 923 BN A ?
becomes how many times in 18 years?

5
A =~
A) % (A) 3
® 2
(B) 625 16
16 125
© 5
(©) 125 8
’ o 2
& 4
® =
66. Whose Pen-name was ‘Dhumketu’? 66. ‘LY I TN EGk
(A) Kaji Nazrul Islam /«K ey e T
(B) Sharat Chandra Chattopadhyay (B) e SR .@9 o—
(C) Satyajit Ray (C) Foyfere IW g
(D) Sunil Gangopadhyay (D) T ST (Nﬁ S

67. Mohini is taller than Nita but not shorter 67, IR For (¥ o e Ao (o

than Sarita. Sarita and Malini are of the same Aﬂu,ﬂﬁ@uﬂ«mﬁiﬂ; sqsn; l? R o
height. Mohini is shorter than Hema. AmOng | & | THOR G0 ) faoN (T2 S Cots

them, who is the second tallest? (A) iR
(A) Mohini ®) &
(B) Hema ey et a1 71T
(c) Cannot be determined D) Tt
D) Nita

[Please T
Oveyy

==
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68. Who has won the India’s Science Award,
Bhatnagar Puroshkar for Chemistry in 2020?
(A) Prof. Surajit Dhara
(B) Prof. Surjendu Dutta
(C) Prof. Rajat Shubhra Hazra
(D) Prof. Jyotirmoyee Das

69. A garrison of 500 men had provisions for
24 days. Howe_:ver, a reinforcement of 300 men
arrived. The food will now last for

(A) 15 days
(B) 17¥2days
(C) 18 days
(D) 16 days

70. Which of the following is not a bacteria
related disease?
(A) Typhoid
(B) Pneumonia
(C) Influenza
(D) Diphtheria

71. How many 4’s are there preceded by 7 but
not followed by 3 in the following number series?

5932174269746132874
138325674395820187463

(A) Four
(B) Six

(©) Five
(D) Three

72, Which state has recently declared and
Celebrateda particular day as ‘Desh Nayak Divas’?
(A) Bihar
(B) Jharkhand
(©) Odisha
(D) West Bengal

(18)

68. 2020 T IR ACH ¢ @t owea (Hena
T OB ATHA TS ICACR ¢
(A) 2CEHR RIS 4 \\v,
(B) 2@ 0 78 \%sjv
(C) 2T TTOVT YERAHN N 2”
(D) 27 (Eesta 7 /4

69. 4T CASRATS 500 & O 24 fa
2T SR | SRS 300 T G BAES 20, O TH
FoMER (S9N AT A ?

A) 15 =
(B) 17% W=
(C) 18T
(D) 16 =

70. RS (@I PO RAGHS ] 4 ?
(A) SREFEG .
B) e
(C) TgaEe
Py feorafamt.

71. NApA A FENCS Tl 4 ST T A
7 R 3% @ 3 @R

593217426974613287.4
138325674395820187463

e

|
(B) =X gq'
©) 5 —
(D) f&w

72. (P A ArefeT w3 [ M
‘T TR A (e w9 2R

A) =7
(B) TGS
(C) Sfea
(D) #feoara
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73. If 27th September in a year is Saturday,
then what day will be 27th October in the same

year?
(A) Monday
(B) Saturday
(C) Sunday
(D) Thursday

74. In human body blood does not clot in
(A) Artery
(B) Capillary
(C) Brain
(D) Vein

75. Sportsperson Deepika Kumari, who
recently reclaims world no. 1 ranking is associated
with

(A) Archery
(B) Table Tennis
(C) Wrestling
(D) Kabaddi

76. At what rate of compound interest per
annum, the amount of Rs. 10,000 for 2 years is
Rs. 12,1007

(A) 10%
(B) 5%
©) 11%
(D) 20%

77. CMM, EOO, GQQ, _?_,KUU
(A) GRR
(B) ISS
(C) ITT
(D) GSS

RBSIWPV20

73. T @G 2gr
o <3 TR 270w s HfEE

<Hm27mmmmmv

AT
(B) =ferarz 4 {'%?F
(D) 37=fsar

74. TTAATIR (F ST 7% TG Frg 12
et
(B) taferm
(C) afzs
(D) Tzt

75. T2ife Reaa @& T59 (TS A TR
@ (LET A T& 2
(A) fozf&

76. IS vergfa o JET T, 10,000 T
2 I 12,100 O TR?
(A) 10%
(B) 5%
(©) 11%
(D) 20%

77. CMM, EOO, GQQ, 21— KUU
(A) GRR
(B) 1SS
(C) ITT
(D) GSS
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B t . I JREOIER
. R of Mercury in a Barometer 78 ; I AR

. 3 T g
_ If height o At FEiRe @EE A, oy
dec7riases rapidly it denotes - SRR
A) chances of storm ;
EB; chances of Sunny weather (B) (Muareger SRReny
(C) chances of clean weather (C) ~ifwig SRR AR+
(D) chances of rain (D) IR Sty
- rofit of 5%: 79. 9% & 93 w3y 59
79, If a person sells an a.I'tICIC atla Pt at 21088 of e R 5% wors frarm ° Ate ﬁm AW |
he gains Rs. 15moretmnlfheselS}1 ) (T 15 B <y mecﬁmw
Sfe%:g What is the cost price of the article: (T | T3y G W?’
(A) Rs. 150 . (A) 150 Brp
(B) Rs. 120 (B) 120 Br
(©) Rs. 125 (C) 1255w
(D) Rs. 105 (D) 105 S
: i ds, select 80. =53 NHefayg 4
. From the given alternative Yvor , TG @R
v th: ?avor(; which cannot be formed using the letters PHOTOSYNTHETIC =% FY 71 (o 31
S of the given word: AGI Y ?
PHOTOSYNTHETIC (A) THOSE
(A) THOSE _{BY"PRONE
(B) PRONE (C) COTTON
(C) COTTON (D) SCENT
(D) SCENT
81. The length of a hall is 5m more than its 81. 4B I O 2T (AF 5T P
breadth. If the area of the floor of the hall is 84 m?, ZGEE (AT g4f? 27, o TR W e
what are the length and breadth of the hall? o5 T
(A) 11m and 6m .(A) 11fre 6f
(B) 13m and 8m ®) 13fie st
C) 14
((D)) 12rn an;i :m © Lafive 67
m and 7m D) nfe o
82 Which o ol e !
Planep one of the following is not a Dwaf g2, e @ @
(4) Plugg (A) T
(B) Ceres (B) LcHl
(g) Enis (€) 37
( N
' Neptune (p) ET
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‘ R anS ‘X iS fath ik
- :( lS l]lother Of Y,. ‘XXY, me : X ’
s ans ¢ is

” th M
N#A$BxD? en how is D related to N in

(A) Nephew
(B) Granddaughter

(C) Can not be determined
(D) Grandson

85. Torr is the Unit of
(A) Pressure
(B) Momentum
(C) Work
(D) Force

g6. The ratio of market prices of wheat and
d. 2 and the ratio of quantities consumed
paddy "¢ 5: 4. Find the ratio of expenditure on

cm“ﬁ

83. atew Xy aems Fraf

QR 9
Ay Corpefirmet P
(B) ffaze e
(C) fenfiet i
(D) s e
" o
YO
A~
» ST
84, af ‘X$Y W y-ga A’ X{?Y,m
X y~qaar; XxY X Y«a:m ,
N#A$B>_<D—(S‘5D N-a%
(A) oAl
©) farefe a1 A T gf |
(D) WS « N V
A.NHB- - P(/
Lt
E5T e e
v A
¥

85. Torr S Unit?
(A) B (Pressure)
@) +fé (Momentum)
() ¥ (Work)
(D) & (Force)

86. 5 6 (TR AGIAACIA TS 2 1 3 932 4T
ARIIE 5 8 YT JIACES SEATS 5 : 4| SR
AT 51N 8 YA &) YAB T ATS TS ¢

(A) 6:5
(B) 1:1
(C) 8:15
(D) 5:6
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g7. How many triangles are there in the given

a2

figurc-

(A) 10
(B) 14
(©) 16
(D) 12

88. Whose biography is ‘Romancing with life’?
(A) Dilip Kumar
(B) Amitabh Bachchan
(C) Raj Kapoor
(D) Dev Anand

89. Who wrote the play ‘Mudrarakshasha’?
(A) Shudrak
(B) Vishakhdutta
(C) Kalhan
(D) Kalidas

0. If a seller sold two sarees at Rs. 400 each
and made 5 profit of 20% on the first and a loss of
% on the second, what is his total profit or loss
On the whoJe
(A) No profit no loss
(B) 4% profit
©) 1% profit
(D) 4% 1oss

(22)

87. 53 TS TRl fIge Wiy

(B) 14
(C) 16
(D) 12

88. FIT &I AN ‘Romancing with life’ ?
(A) frelist Fa
(B) Sfiere I+
(C) IS Tz
(D) (3 W%

89. RN AGHH WS =2
(A) Es
_B) Rt
(C) Fer=A
(D) ifemwisy

90. 7% s 26 400 S RfF @, @
Rewet e WfiEfre 20% e ¢ By =
20% 1S Tl I | ARSI Wi TS S A
S 257 ?

(A) 7o At %S /3 7l
(B) 4% #re 73|

©) 1% e 7|

(D) 4% = 37
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(2) RBSIW(P)/20

91. Fill in the blanks with appropriate set of 91, Hfr aefateny furn eiygleinf A w0 2

letters: -4 ‘l#' -d‘?‘r"' fN— A

_a_bca_dabba_bac_c_a (A) adcdba )9(.""
(A) adcdba , pe?

(B) acbdba O~ !
(B) acbdba 0\/‘(; I A

(C) acbdab (C") acbdab — a

C -~
(D) acdbba (D) acdbba (Ooa,\-’
‘oh 0\/

\0\3(0 f"*‘

o ‘% )
L, Ac —
L b,)(-_gﬂ/u- C‘)CA‘O)V-JO.F o

92. wiaeas sufaraas aaza 402 arazzaa
AP felcfil @Al 1 aan 2319

92. Using duplicate application to collect user

password is called

(A) Bullying (A) Bullying
(B) Stalking (B) Stalking
(C) E-bombing (C) E-bombing
(D) Phishing (D) Phishing
93. In which year Sundarban in West Bengal 93, T HI( ARCIATHA TS D ‘fane
has been declared as a Heritage Site? ARG (AN A 2 ?
(A) 1999 (A) 1999
(B) 1969 (B) 1969 O
(C) 1989 1989 WS T
(D) 1979 (D) 1979 O\ ¢ o, X ’
N
\ J
A O
1o
Q£

94, afi ACID-4% srafes s 1C3D,

94. If ACID is written as 1C3D, PAMPER is
PAMPER-4% PIMP2R ¥, @ BOMBAY-93

written as PIMP2R, then how will BOMBAY be

written? mg@ﬁﬁ‘ﬁ‘ﬁam? ﬁk{ 6
(A) B4AMBIY B4MBlY/ ‘
(B) B5MB2Y (B) BSMB2Y
(C) BAMB2Y (C) BAMB2Y
(D) B3MBIY (D) BIMBIY/

[Please Typy Over)
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RBSIW(P)/20 (24)

95, The ‘Pegasus’ spyware, allegedly used for 95. H*2ifiea it e SifGairera G colsteT
surveillance of phones recently, was developed | apra spiama amzicaa 1 e o, o1
by (Bl (H0H 2APS 2% 7
(A) Israel ) B
(B) USA ' '
(C) France (B) wi% qeary
(D) Canada (©) T
(D) wterfef /
96. What is ‘Fire Ice'? 96. ‘Fire Ice’ a0 fo((H1G (@B (AT 231 2
(A) Methane Hydrate (A) farres 22155
(B) Propene Hydrate (B) (2ol 3(30%0
(C) Methylene Hydrate (C) fafafem 23055
\ (D) Ethane Hydrate (D) 372 227T5
\
97. A4 and B can do a piece of work in 10 and 97. 93 IS 4 QR B IAFW 10 € 15 W o

15 days respectively. 4 alone did the work for T | A AU G 4 TA I K B S foret BG4 |

4 days and then Bdid it for 5 days. Thereafter C did S T oTs= FAE
the remaining work in 8 days. How long will they C 8 et e 37| AR

take to complete the work together? refs Tt o7 o 7
(A) 5days (A) 5= RS @
(B) 8 days (B) 8 fis

(C) 3days (C) 3 e L/@ '}p
(D) 7 days (D) 7 RS

A “
Y
“@/‘“"@ 2

98. In 1943, Subhas Chandra Bose formed the 98. 1943 7tA frafeifRe o g1 NS5 @
Provisional Government of Free India at 249 FIRW SrTee S (Provisional) %d 15
(A) Rangoon FAA?
B Berlin /‘K{m
Ig B.&ngkok : (B) m.ﬁﬁ
' Singapore ©) {
(D) Fem |
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99. Who was the Director General of National
Government in Tamluk?
(A) Ajoy Mukherjee
(B) Satish Chandra Samanta
(C) Biren Sashmal
(D) Sushil Dhara

100. Which least number i divisible by 12, 15,
20 and 257
(A) 300
(B) 150
(C) 600
(D) 200

(25)

zBsIV(®P )20
a7
(A) e st
(B) 3™ b sty
(C) == ==
(D) A=yt

100. 12, 15, 20 @R 25 7111 frerey prew AR
T

(A) 300
(B) 150
(C) 600
(D) 200
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